Shrinkage Strain totowing CEB-FIP 1990
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Ac:

= specified = Relative humidity, enter in percent, i,e, 0 to 100 =
LR strength RH:=70 4nd without % symbol (permitted 40 and above) Tmean_while_shrinking= 170C
= 90([tn12 section of the structural member e exposed perimeter

ts:= 1lday

age at which shrinkage starts

Bsc:

8

in whole shrinkage period

8 for rapid hardening high strength cement
5 normal or rapid hardening cement
4 slow hardening cement

valid up to fcm=90 MPa

fem i= fox + 8IMPa accepted mean value at 28 days age

Eco:= 21500MPa
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femo := 10MPa RHy:= 100 hg := 100mm t, := 1lday

Bru:= |-1.55B<ry if 1= AND2(40< RHRH < 99

0.25 otherwise
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h:= 29— h =150mm mean thickess for calculus
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Teng:= 10003ear
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* Note that the strains are
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;= 50year time at which the shrinkage strain is required €.{T) = -0.000468 the required unrestrained shrinkage strain to age



